518991 AAANERNS

13949 NISUINNHUIY

51e3Y1 722101 FudseNfnwIUN 2
HEoU ATUIAYY nld




Tuaun 3 1399 Wy

14

nruulusy
O] U
UD WU

Nag1LS
9 -7Z°+Z + 27° - 477

10 5XC-9X+X2-5X>+2X-2

ANSVDY

WAL




N1SUINNHUY




ATIUTNAUINVNNKUIA

NISUINAUINVDINHUUIN vilalaeiin

WyuNNgUlugUN1sUIN wazaIdnailn
Yy v QY ced Yy v v oy w
aanenulviuInwalasefuIney



NTINTINAUINVBINWUIULLUIUD U

F08197 1 IVHAUINVDINYUIN — 4x + 9

Las 2x — 5

A9 (<4x+9) + (2x-5) = = dx + 9 + 2x - 5
=(-4x + 2x) + (9 - 5)

= —2x+4

MU -—-2x+ 4 [t}
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98197 2 MNAUINVDINGUIN 3x — 5
Las X — 7
W 3x =5+ (x-T7)= 3x-5+x-7
= BX+x)+(-5-7)
= 4x - 12

MU 4dx-12
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08197 3 IIHAUNVBINYUIY 6x% + 11

LAy — 5x° - x +1

2591 (6x°+11) + (=5x%—x+1) = 6x°+11-5x>-x +1
= (6x°=5x%) — x + (11+1)
= X2 — X+ 12

MU X —-XxX+ 12 Y
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ag 3x — 5xy + 2
257 8X 4+ xy - 6

X - bxy 4+ 2 T

11x - dxy - 4

MU 1llx - 4dxy - 4
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Lag x° + 12
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15911 5 + x - 4
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x> 4+ 0Ox + 12

6x° + X _ + 8

MU 6X° + X + 8
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bBm+6én+7t,m-n-t LAy 8n + t
591 5m + 6n + Tt
m - n -t 4
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1. -13x + 15 way bx
511 (-13x + 15) + 5x = —13x + 15 + 5x
= (—13x + 5x) + 15
= —8x + 15

AU -8x + 15 3y
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2.5m + 3mn kag - 9m - 3mn

25v17  (5m+3mn) + (-9m =3mn)
=5m + 3mn - 9m - 3mn
= (5m - 9m) + (3mn - 3mn)
= —4m

MU —4m Ll
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3.3x+9y —-15 1A 2+ 8y -2z

95v17 (3x 49y -15) + (2 +8y -2)
= 3Xx +9y =15 + 2 + 8y -z
= 3X + (9y+ 8y) =z + (-15 + 2)
=3x+ 17y -z-13

MU 3x + 17y -z -13 e
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4. 3x°* -=x - 10 way - x° - X

+

mau 2x°- 2x - 10
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5. 7X° + 11x - 14 wag - 5x° -9
511 7% + 11x - 14
5 + 0Ox - 9
2x° + 11x - 23

Mau 2% + 11x - 23
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6. 9x° -6, 6x—14 Wag - 5x° - Tx + 3
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15911 Ox° + Ox - 6

6x - 14 +
5x? - IX + 3
Ax* - x_ -17

mau  Ax°- x- 17
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